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QUESTION 35 

Which additional three traffic egress controls may be enabled in Cisco UCS Manager depending upon the network adapter selected? (Choose three.) 

A. Rate 

B. Best Effort 

C. Host Control 

D. Peak 

E. Burst 

F. Smooth 

Answer: BCE 

 

QUESTION 36 What condition requires Inter VSAN 

Routing (IVR)? 

A. The targets are in the same Initiator Group. 

B. When the path between source and destination edge VSANs require the traffic to pass through several VSANs before reaching the destination. 

C. When using MDS 9000 series SAN Directors. 

D. Transit VSANs are integral to the IVR architecture and are always required. 

Answer: B 

 

QUESTION 37 

A UCS admin needs to use the department Active Directory (AD) server for UCS user authorization. However, the AD administrator is reluctant to modify the AD schema, but is willing to add Group membership for UCS users. How is the UCS 

administrator expected to use AD? 

A. For user authorization but not for authentication. 

B. Use AD Schema User Extensions (AD/SUE) to do an on demand schema modification. 

C. Use the Group membership information to assign the authorization policy with LDAP Group Maps. 

D. Will not be able to use AD, must use the local UCS user database. 

Answer: B 

 

QUESTION 38 

An application is running in a data center as a set of virtual machines running on a single physical host. The host is using an NPIV enabled HBA. What capability does this offer? 

A. Only the physical host can logically connect to the SAN fabric, thus enhancing security. 

B. The number of FlOGls is kept at a reasonable level, and therefore cannot saturate the SAN fabric. 
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C. Inter VSAN traffic can be switched directly by the HBA. 

D. Each VM initiator can be managed independently, since it will generate its own FLOGl, and have its own pWWN. 

Answer: D 

 

QUESTION 39 

In the context of Cisco’s unified Computing System, which three Cisco best practices are recommended when creating WWN pools? (Choose three.) 

A. All WWN must use “20” for the first octet 

B. Define a standard convention for WWNs agreed upon by all stakeholders for address blocks 

C. Select the default values presented by UCS Central 

D. Use Cisco’s OUI (00:25:B5) for the 3rd to 5th octets in WWN E. Use the same hex value for 1st and 2nd octets in WWNN and WWPN 

F. Engage the security team to request WWNs 

Answer: ADE 

 

QUESTION 40 Which option is available for virtual switching in a VMware virtual 

environment? 

A. KVM virtual switch, distributed virtual switch, Cisco Nexus 100v 

B. Advanced virtual switch, distributed virtual switch, Cisco Nexus 100v 

C. Hypervisor virtual switch, distributed virtual switch, Cisco Nexus 100v 

D. Standard virtual switch, distributed virtual switch, Cisco Nexus 100v 

Answer: D 
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